@ 6 7l ® 774 @ 8 7} ® 9 7}

@D 5 78



2. x=5%+41 y=284+1d o xy=ZE 229 5217 A5t

YR
=



X b¢ o]t}

3 11

@ 13

oltf, a+ b+ ¢ o G227

B 15



® 8 3 10 @ 12 B 15

D 6



5. 90xA=B*& WEshs 7P A2 A A 9] ghs FstefEt

YER
c



ol @ 2pl4=of Aol EA| shafal

@ 12 ® 15



O %_ 23 X 33 X 53 _4 O]:/\7]- O]-\]/]_ -]_10:‘7

3
@ 5% 2 @ 80 ® 23x3x%x5

@ 125 3B 2925



8. 882 9] oF50] A5t 25t x 72 O] o0l AAST S W, A% x
o ghe 7

@D 5 @ 4 3 3 @ 2 B 1



9. 14x[  |x35 oo AMLrk36 L ul, [ [gto] o7
7V A A4S Totola,

YEE
2%



8 Fatelet,

12, 36,40 ©] | A1)

2~
a

gtol A

o]



11.

SE BN

471 160 & o, =

o) A3



ol
™
ol
o8

olig
Njo

oln

A}1%:7} ok ek,

©
-

@0



(R 25 £0) 2 Uepd 4

Atole] ARl E

2%

7t

al



el aotp o AU T g = p Ht 12 WHE 2 o, ab 9

=
n

14.

olJ

® -24 A -12 @ 12 B 24

D -36



15.

AHORHE = A A B o2 A ZTA-B=10L 1], &

B o H-&ste =7

@D +5 @ -5 B -4 @ +4 3 0



16. -1<a<0, b>14 4, 22 & &AY=E

rx

AL

@ 0 © a2b @Z @ ab

® 906,06 ©6,00,06 ® 0,060
® ©,©E,0,E ® ©,0,0,



Aol

3
2

el 2 of

=
T T
.__IL

17.

o=t

S



18. 424014 ~47 30 thaks Mol A 2-& Azlel 9l Aol et
£ 48 Fafelat

=g
=¥



19. (-4.4) + (-3.6) = ALtabd?

D =8 ® 0 B —16 @ 8



HolE 1 e BE



21. Thg F A AT} hE )

0(D-() @)
o ()1 e (Y



22. o F Ate] S8 A2?

D (-15) + (+3)=-5
® 30+ (-5)=-6
® (-21) =3+ (-7) =1



23

. el

(:Fwao%a}

ARIENE
’ -3



a,boltstd a-b>0,ab <02 0, S F F57}

‘rlm



25. Mg a b, colHotdaxb=-6,ax(b+c)=-202 ™, axc 2

&

D =14 ® —-926 A =10 @ 8 B 14



AEAA A upF B "ol 9l F 5
Wr ]Uﬂ Holz] &= Al Wo| gl =0
o | A9 ghe? -7

@D 20 ® 68 ® 120 @ 144 ® 252



olJ

v
[¢]

o

oA

1165 & YW 3 0] =

!

61 = L4 5 7}

27.

@ 7 3 14 @ 28 B 56

@D 4



28. 7 2 UFH UmA7t 6, 6 02 YrH YW ]7t 5, 5 2 UEH U
A7} 4, 4 2 JEE Y27} 3, 3 02 JeE U7t 27t B
F| 40| Aol A ZHAbe] 2=A1e] T oozt

Yk
=%



Stofet,

?_



30. F frEls A, BO AUigh2 241, AVF BEY 67HE A0l & o,
A, B9 gk Fstofzt

D EEE
Je:B=



31. % A% a b S 524 90 GERfE 5 5 Aol o] A2l 12 of
ol = 3 T, 7H58a, b O B F A 2 aS AF AL E T
Zhe aAntel A

@D 2 @ 4 B3 6 @ 10 ® 12

r°+" H



!
Mo

o}

mj

-6 ToM Mz & F 5

Bl

32.



33. no]l&sd o

(1) x (1) x (=1)" 3 x (=1)"* O] & FotoEt (B2 5)

e =
=%



